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f)

9)

h)

Attempt the following questions:

Modern carburetors provide the correct quality of air-fuel mixture during

(A) Idling (B) Cruising (C) Starting (D) All of the mentioned
An Sl engine sometimes continues to run for a very small period even
after the ignition is switched off. This phenomenon is called?

(A) Throttling  (B) Idling (C) Dieseling (D) None of the mentioned
Gaseous fuel is most suited for IC engine since physical delay is almost

(A) Zero (B) More (C) Less

Advantage of gaseous fuel is that

(A) It can be stored easily
(B) It can mix easily with air

(D) None of the mention

(C) It can displace more air from the engine

(D) It cannot displace more air from the engine

The instrument used to measure relative humidity of air is
(A) Hygrometer (B) Hydrometer
In a psychrometric chart, specific humidity (moisture content) lines are
(A) Vertical and uniformly spaced
(B) Horizontal and uniformly spaced

(C) Horizontal and non-uniformly spaced

(D) Curved lines

Evaporative cooling systems are

(A) Environment friendly

(C) Pyrometer (D) Anemometer

(B) Offer lower initial and lower running costs
(C) Easier to maintain and fabricate

(D) All of the above

Which is the thermodynamic cycle of two stroke petrol engine?
(A) Carnot cycle (B) Diesel cycle (C) Otto cycle (D) Duel cycle
Which one of the following is not including in cylinder head of four

stroke petrol engine ?

(14)
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(A) Inject valve (B) Exhaust valve (C) Spark Plug (D) Suction valve
j)  Which one of the following is not used in valve mechanism?
(A) Cam shaft (B) Spring (C) Pushrod (D) Connecting rod
k) The vapour compression refrigerator employs the following cycle
(A) Rankine (B) Brayton (C) Carnot (D) Reversed Carnot
I) Rating of a domestic refrigerator is of the order of
(A)0.1ton  (b)5ton (C)10ton (D) 40ton
m) One ton of the refrigeration is
(A) The standard unit used in refrigeration problems
(B) The cooling effect produced by melting of 1 ton of ice
(C) The refrigeration effect to freeze 1 ton of water at 0°C into ice at
0°C in 24 hours
(D) The refrigeration effect to produce 1 ton of ice at NTP conditions
n) The moisture in a refrigerant is removed by
(A) Evaporator (B) Safety relief valve
(C) Dehumidifier (D) Driers

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

@ >

Ow>

@ >

Attempt all questions

Explain working of four stroke petrol engine.

Explain fuel supply system of a diesel engine

Attempt all questions

Write difference between air cooling and water cooling system.
Explain hit and mis governing system

The observation recorded during the trial of four stroke cycle engine.
Stroke 40 cm, bore 24cm, speed 250 r.p.m., no. of power stroke
115/minute, average effective pressure 6.65bar, net break load 850N,
radius of break drum 75 cm, fuel consumption 0.21m*/min, C.V.
18690kJ/m®,

Find

(DI.P. (2) B.P. (3) Indicated thermal efficiency (4) break thermal
efficiency

Attempt all questions

Write classification of refrigeration.

Write name of types of air cooled condenser and explain natural
convection air-cooled condenser.

Explain vapour compression cycle on P-V, T-S and P-h plan .

Attempt all questions

Write difference between hermetically shield compressor and open
compressor.

Write a short note on capillary tube and also state its advantages and
disadvantages.

Attempt all questions

Write a short note on spark plug and also write reasons for failing of a
spark plug

Explain can ice plant

Attempt all questions

Write short note on sequential CNG conversion kit and also write its
advantages and disadvantages.

Explain process of heating with humidification.
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Q-8
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d)
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Attempt all questions (14)

Write applications of industrial air — conditioning system. 07

Write difference between air- cooler and air — conditioner. 07
oLl

o{lAotl Yslloll cltol AUl (1%)

et s0freR AR-syuct HleRoll W saAclldl  erauet U B
) AESla@at () 5@t (5)A3RMAHL (5) BURsL vl

SI AeBot decllsallr Soollatot ol Al Ul UBL VoL WL MU HI2
AL W B. Al Yol Y sdaA?

) AelAat (o) vusssladal () Il () As uaL «i(e

AR SRl S AeBot 12 Al ay Weodsn & 5120 3 WIRS Qcin
AoleoL 8

() Yol (0 Y (5) A () As UL o1}

(U SURL SLAEL A D %

() Aol AR UYL 1R 53 AslA

(o) A scll A AR ALl Plsy e a3 B

(5) B ABotiiell ay sl (Al 53 23 &

(5) B AlBatniell ay scllal [rud 531 Asd otell

Sclloll AU Aol HIUAL HI2 AU ALl B

() staonHle? (o) slsQler

(5) waRHle: (s) AlHle:

ARASARS WEHL, AlssU A% (ASo] YHIRLY WA D

() Glell Wl AsUHLet wRUA

(01) VUS| Vol WsUHLet RUN

(5) VS| WA WsUMLol RN ol(d

(5) 54 sl

gAUWReR Aol Reu ®

()ALl wggn

(o) B YRS A 9L Aol W A% 53 B

() dal stacll Aall Wl clailalall M2 AN

(S) GURell ol

A 25 VA AleBolo] ArsIAARS WASH 53] & 2

(A) stolle UASA (W) Syt A2AsA

(5) el AASAH (S) SYUA AASAH

@&

Page 3 of 5



) oflActniell 53 AR 2215 SA AlBotoll RAS? 3sHL UAA ot2l?
(A) %82 clecl  (ol) AsAlRe alcal
(5) ¥ULE WOl (S) Us2Aot clical

D cea A3RQ3HHL AQAotHiel 2 ol GUADL U otll?
() 3 g2 (o) RUSL (5) Y RAs () saAsdloL As

K) Quz disluet Asx2A ol Aetl Wl sell AASCA GUADL 52 D
() Asdet (o) Aot (5) slalle(s) Rads sielle

) edeq Bogo] @108 ey B
(A)O0.1ton  (b)5ton (C)10ton (D)40ton
m) A 2ol 2dwdalel Y B

() AdsR2otoll HRUBHUL U YHIQed AsH B

(o) 1 2ot oRg Yloinatell Gaur adl gldol s¥se

(5) 24 scsHi 0 (Sofl ARAU UR 1 2ot Ullal 0 (39l AR2UU WR

5l sclloll Adgsatotell WAR B

(s) WetdlUl oll RA(AUL 1 20l 61§ Glotlclall M2 Az%wR2Actoll WU
N el A% A £2 Aoltell scUH 1A D

() BAURRR (6l) Y&l RAsd aleal
(s) BaRB g2 (5) slaURl
Attempt any four questions from Q-2 to Q-8
YR o{lAetl Ysllell cltot AUl (1%)
512 s WA Weotofl stlugla uHeAl 09
B Sl Aeotoll suet ALALES AlReH AHsLCA. 09
u.3 o{lAetl Ysllell cltot AUl (1%)
AR glAoL U cAleR glAot WlreH A dsleld AUl 0R
B 8l wal M otate{lol YlreH AHst A ou
SR s ULRASE Woololl 2301 €2121Let o{|Aotl IS HAA B. 0V
28 — 40cm , 6llR — 24cm , BSU — 250r.p.m. , WalR 2Ase(l vl — 115 yld
Mofle, U2 MUR/SIRS EGURL — 6.65bar , A2 Qs AS — 850N, A5 SHell
(AUl — 75cm , SJUA cAURA2L - 0.21m*/min , C.V. = 18690kd/m®
SINE
(A)LP. (B)B.P. (C)&osldes UM eatcl (D) As A ealdll
u.¥ o{lAell Ysllell cllet AUl (1%)
A 25l 22Uote] co(l50L AUl 0
B AR §E5 53cUR0tl USIR oll ollH AWl AR AUIEA SoA S0t AR FECS 53R o4

Page 4 of 5

@&



LR

u.s

w9

u.c

IRICIEE

P-V, T-S Aol P-h W@ot UR AUR SLYUR ALUSH AU A
o{lAotl Ysllotl cliol Al

eMdlscll Ales SLYUR el W Uet YU AR dslelct AVl

SUlAR] 2ol UR &5 olltd AAULll el Aotl SLAEL ol AR SIAEL URL AW,

o{lAotl Ysllotl cliol Al

AULS WAL UR &5 olltl ALl Aol 1ULS LAOL 38 Aclloll $100 Al
S0t U Wellol UHALAL

o{lAstl Ysllotl cliol Aull.

RSAGRAUA CNG $ocldbet $le UR &5 olld AVl Wal Aol SLAEL Wa
ARFLAEL AW,

(3210t Q& gjlsl g3 atet YA UM A

o{lAotl Ysllotl scllol cull.

AUELs AR 58l2te{lol YreHell Guo(lctl el

AR AR A AR §312AcR Al dslelc Aul.

u
S
c
2
2
1s°

c
A

—

09
(1¥)
09
09
(1¥)
09
09
(1¥)
09

09
(1¥)
09
09

Page 5 of 5



